MA 161 & 161E

EXAM 3

1. The function f(z) = z* — 823 + 24z% — 7x has

no inflection points

B. two inflection points at x =1 and z = 4

. an inflection point at x = 2
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D. an inflection point at £ = 0
E

. two inflection points at t =0 and z =4
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3. The graph of f(z) =z + % looks most like which graph below?
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4. The graph of f(z) = 32° — 5z? is concave downward on the interval(s).
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D. (——?,O)U(%,oo)

E. none of the above



MA 161 & 161E EXAM 3

6. The values of a and & which guarantee that

/a C s /; " ftydi = fs " F()dt are

= Eb,ﬁe)&f jg»ﬂe}&’r rf Fey dt
@ -3

ji fre) &

4, <xr<3
7. 1 fle) = {2 ~2 3<z<4’ f

1

t 3 ¥
Sl rP‘[Ys}ch = ‘gl fFﬁ'x)DL% 4 Iz rﬂl)clx
s s L Oxd
{

- 2
AN \Ig v (X*M_‘)l}

(n-u) + (O = (Y

¢ + S

Spring, 2000

= o0 =(z)
=] = = a 2
Il T

f

A3
B. 8

D. 18
E. 23

f
N A

d

L=~ o~ = =
I
p— N s b2 —



MA 161 & 161E EXAM 3

2t

8 If Flz) = /s'mtzdt, then F'(a) =
2 T
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a*sin a®

4a°® sin a2
at cos a?

4a® cosa?

443 sin g®
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10. The function F(z) = [ (vt — t3)dt is increasing for
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